ERICENREE WMEHR 2024F 4A

MRRE (STD) BEREH

5 EERE mee (R 2 B
(MEpEES) | 8 | 818 | B2t & EH
we | mm | =2x |50 258 | =1
X 6 EEHEE 48 38 |1A~48 48 |(1B~48
1%%;;/7 19 28 |89 || 17 2 | - o | - [ 2,443 | 9,790
A e | 14| 15 [ 49 | a2 | 1 | e | 1| e | e | 857 | 3,227
gxavoo—v | 2 3 | 16 || 2 .. o | o | 563 |2 059
B 2 11| 2 o | | 685 |3, 034

FAMERBREE BERSH

5 SRR BER fRE2FT A £ E

(ERER) SH | IR | REt SR | A&

=
CHt
H:

B fim | =R |SFHII| =& | =%
X 1 ERE 4R 3R [1A~4A 4H |1A~4R

AFN) Uitk
BEITRUKE | 24 21 90 21 1 2 1,265 | 5,335

Rz Uitt
R BRE 93 314
BRE

ST
I ‘ 3 20




AMIFEEHRANEERSH 20245 48

RS AE ZEF i 14 B R R AE
[ g lﬁj}\;}f; | 222 | ymmas I;;{E);I@; ﬂﬁléﬂ%ﬁ* A
“ RERAE KERRE | ERRE fiE
8 | x| B =8 g x| 5858 x |5 |58 |5 | %
0%
1% ~ 4% 1 2
5 ~ 9%
106% ~ 145%
158% ~ 198 | 1 1
20/ ~245% | 2 | 2 1
1
25/% ~ 29 | 3 2 2 1 1
307% ~ 4% | 3 1
35 ~ 39 | 2 2
407% ~ 447% 1
1
455% ~ 49% | 3 1 1
50m% ~ 54m% | 1 3 1
2
55/% ~ 59i%
607% ~ 64m%
1
65m% ~ 697% 1
70m% ~ 1 9 7
it 5 42122 01| 114 10[0] 0| 0] 0O




B PR &2 I 4 Bl AR R R AR RS R

2024 &£ 4
1| R|B|A|IBR|K|IF|B|B|~N|R|R|E|A4|F|B| 2z
vis|@E|E|2|m|R|2|%|L|G|T|E|Y|H|%|D
T | &L | [ O < VA - O < I B I - fth
L4 | E|n)| B Bl | K| | B |AB|&|L|F| B

& ‘ TRl =& BE|L | ¥ | T |%&|®| =& |E
5l B EE V| & ¥ | % Al || x|
¥ =& ® ;| & | & Vi
HE
= L )
P’ =
A(H1pdm09)
. ©aw A(H3)
AVTILIVHFIALILA BVictoria Ze)
B(LLIf %)
1
ISSAVITLIVHIAILA 2
3
ERAR=Z1—FTA()LR
RSAJLR
LUTRAIAILA
SA4/91ILR 1
2
4
5
Y yF—D(ILR 6 1
AR% 9
10
12
16
1
2
29 F—"JA(ILR 3
BEf 4
5
6
3
6
2 7
A IO—9 I)LR 9
" 11
Z 18
30
ILFOY9ALR D7618
1
Ek/SLaA LR 3
5
1
2
3
4
FTT/24ILR 5
6
31
40/41
41
GI
/94 IILR ¥
HHRIAILR
EE RIS
BHAILRITAILA
Kz - wHRAZ VML
EBVAJLA
HARAHOTA LA 1
ERAILRZRYA LR 3 1 1
/XILAER A/ )LRB19
BEH 3
JAILR &t 1 1 4 1 1
hoEQNIS—REE
o YILERSEE
! AERMEL YRR
& THRIREEREGE
IAATS5X<-Z1—E=T
ZOMDE
fHE &t
& At 1 1 4 1 1




BRHREE ARl—F

w3 B RE 20235 20245 g0zl
58 |68 | 78 | 88 | 98 |10B|11R|128| 18 | 28 | 38 | 48 | =&
A(H1pdm09) 1 2 1
. o A(H3) 1
AV INTF AN A B ctora R 1 1 1 2
B(LLIf & #t)
1
INSAUTIWIUHIAILR 2 1 1
3 4 1 1
ERAZ=Z2—FSAI)LR 1 1 1 1 1
RSAJLA 2 4 1 1 1
LUTAIALIA
SA)I94ILAR 3 1 2 1 1 1 1 1 3
2 1
4 2
5
39X —1I)LR 6 1 1 1 3
AR 9 1
10
12
16
1
2
A yF—o1ILRA 3
B# 4
5 3 2
6
3
6
Y 7
a4 Ia—4J)LR 9
L 11
R 18
30
TUFOYAILR '37618
1 1 1 1 1
Ek/SLavAILR 3
5 1
1
2 1
3 2 1 1
4
TT/IO4ILR 5
6
31
40/41
41
GI
JA9AILA o
YRDAILR
B3 74)LA
BH#HAILRZIILILR
KE-HRAB VAR
EBIA LA 1 1
HFARAAAIAILR 1 2 1 1 2 3
ERALARRS A LR S 1 ! ! } ?
/X)LIR A JLAB19
BRES 3 3
SAJLA =t 11l o] o] 7] 6] 1] 6] 3] 6] 1] 4] 12] 23
hrEONYS—RBHE
. YILERSEE
» AREAMMEL VS EE 1
THREEXEGE
YAATSAY-—1—F=T
ZTOMDE
S 1
& &t 1|l 9l ol 76| 2] 6| 316 | 1| 4] 12] 23




